GCSE BUSINESS STUDIES
Finance Module

Definition Internal External .
Sources of [y EE—— — Break Even Analysis
0 Retained Profit
Fl na nce Sale of Assets
Bank Overdraft VARIABLE costs CHANGE with output
Bank Loan +
Trade Credit FIXED costs DO NOT CHANGE with output
Hire Purchase =
Government Grant TOTAL COSTS
Share Issue
Mortgage
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Margin of Safety
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Cash flow is simply about money coming and going

from the business. Managers must make sure there Overtrading P 1 -

is always enough cash to pay expenses.
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Cash flow tells us nothing about profit — a profitable %—T,

business can have poor cash flow, and still go Poor business

. Margin of Safety=
bankrupt decisions
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Costs, Revenue and Profit
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Profit =

Total Costs =

Average Rate of Return

Average yearly profit =

Which project gives the best return?

ARR = average yearly profit x100
cost of investment

A. A new delivery van will cost £40,000 and will
increase profit by £6,500 a year
ARR- 6,500 - 1625 ¢ 100 - 16.25%
40,200
B. A new order system will cost £10,000 and will
increase profit by £2,300 a year

ARit- 2,300 - 023 x100- 23%
10,000

(An income statement is
Example Company Ltd
A Income Statement

"\ YearEnded 31 December 2015

\ £000
Ypeseme 19,780
‘-\Coaufﬁhs 12530
GROSS PROAT 7100

rheads ¢— Y S—

——— OPERATING PROFIT 2210

Taxand interest 700
S E— \ _w NET PROAT N

Ratios

Balance Sheet

LEARN ALL THE FORMULAS / Use figures in every answer

TOTAL EQUITY
Share Caprtal 100
Retained Profit

PROFIT FORMULAS e o
- = >4
Gross Profit = -
L ) ASSE LMBILITIES
R O Balance Sheet (What 1 OWES;
IS For the year ending 31* December
Operating Profit = e £000
- i vehicles 20
i ] Pant and Equipment 500
Met Profit =
\_ ) CURRENT ASSETS
Stock 200
PROFITABILITY RATIOS CashatBank e
FORMULAS l s CURRENT AN ITIES
Trade Creditors 150
150
[ Gross Profit Margin = ] NET CURRENT ASSETS 100 )
LONG TERM LIABILITIES
Mongage .\Aso‘ ——
Sark Loan 200
Met Profit Margin = 650 —
: NET ASSETS 150 / N\




